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QUESTION 1

What can you conclude about a monitor based on the following icon?
A. It has an alert configured on it.

B. It has a report configured on it.

C. Itis disabled.

D. It is dependent on another monitor.

Correct Answer: B

QUESTION 2

Where do log files reside?
A. \\tmp directory

B. \SiteScope\logs directory
C. \SiteScope\bin directory
D. master.config

Correct Answer: B

QUESTION 3

What are SiteScope report types? (Select three.)
A. User Access Reports

B. Alert Reports

C. Monitor Reports

D. HP OpenView Operations Integration Reports
E. System Capacity Reports

F. Custom Reports

G. Management Reports

Correct Answer: BCG

QUESTION 4



How does SiteScope integrate with third-party products? (Select three.)
A. by querying the product\\'s database

B. by using RMI

C. by receiving a Web Services call

D. by reading the product\\'s log files

E. by receiving formatted e-mail messages

F. by placing calls to the product\\'s Web Services

Correct Answer: ADF

QUESTION 5

Where does SiteScope log its core errors?

A. /logs/bac_integration.log

B. /logs/silent_deployment.log

C. llogsl/error.log

D. /conf/core/Tools/log4j/PlainJava/log4j.properties

Correct Answer: C

QUESTION 6

What are the basic SiteScope tuning types? (Select two.)
A. Windows server tuning

B. SiteScope tuning

C. remote server tuning

D. monitor tuning

E. alert tuning

Correct Answer: AB

QUESTION 7

The security officer wants to monitor the /etc/passwd file and verify that the group ID for the guest account has not been
modified. What is the best way to do this?



A. by using a SiteScope URL Monitor
B. by using the UNIX built-in security
C. by configuring the technology File Integration Monitor to alert on security issue on the UNIX box

D. by setting up the Log File Monitor with a Regular Expression and changing the threshold to alert if the group ID is
different than 100

Correct Answer: D

QUESTION 8

Where can you create a new user in SiteScope?

A. Preferences > Credential Management Preferences
B. Preferences > User Management Preferences

C. Preferences > General Preferences

D. Tools > Users

Correct Answer: B

QUESTION 9

What is the impact on SiteScope performance when the number of alert definitions increases?

A. Performance improves because only monitors that have associated alerts will be run.

B. Performance improves because only monitors that have associated alerts and are in Error status will be run.
C. Performance is unaffected.

D. Performance is degraded because after a monitor that has an associated alert is run, its Status must be checked
against the alert trigger.

Correct Answer: D

QUESTION 10

What are special installation considerations when setting up SiteScope as a Failover/High Availability (HA)
environment? (Select three.)

A. Primary SiteScope must be installed on a shared resource that can be accessed by the Failover Manager machine.
B. SiteScope can be set up as a Failover/HA environment only on a Windows platform.

C. Primary SiteScope and SiteScope Failover must be installed on the same platform type.



D. In order to host both the Failover Manager and the Failover instance of SiteScope, the Failover server should have
significantly more resources than the Primary SiteScope host.

E. SiteScope can be set up as a Failover/HA environment only on a UNIX platform.

F. During SiteScope installation, the Failover Manager Service must be configured to run as a user that has network
access to the shared drive that hosts the SiteScope configuration.

Correct Answer: ACF

QUESTION 11

What does it mean if a SiteScope license is "node locked"?

A. It is only valid for a specific SiteScope host.

B. It is only valid for a specific remote server being monitored by SiteScope.
C. Itis only valid for a specific SiteScope host that is integrated with BSM.
D. Itis only valid for a specific SiteScope host that is integrated with OM.

Correct Answer: A

QUESTION 12

Which standard protocols does SiteScope use to monitor IT infrastructure?
A. FTP, LDAP, Telnet, SNMP, DNS, ODBC, JDBC

B. RMI, NetBIOS, SSH, rlogin, NSPI, FTP

C. ms-wbt-server, Telnet, SNMP, DNS, ODBC, JDBC

D. snpp, NetBIOS, SSH, DNS, ODBC, JDBC

E. ntp, NetBIOS, SSH, rlogin, ODBC, JDBC

Correct Answer: A
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